



ANSWER TO THE EXERCISE





(1) Calculation of Early Start Time



Event   �Preceding Event�Early Time + 

Activity Time�Early Time��1�—�—�0��2�1�0+2�2��3�2�2+4�6��4�3�6+10�16��5�4�16+4�20��6�4�16+6�22��7�4

5�16+7

20+5�

25��8�5

6�20+0

22+7�

29��9�7�25+8�33��10�8�29+9�38��11�9�33+4�37��12�9

11�33+5

37+0�38��13�10

12�38+2

38+6�

44��





(2)  Calculation of Late Finish Time



Event�Following Event�Late Time -

  Activity Time�Late Time��13�—�—�44��12�13�44-6�38��11�12�38-0�38��10�13�44-2�42��9�12

11�38-5

38-4�33��8�10�42-9�33��7�9�33-8�25��6�8�33-7�26��5�8

7�33-0

25-5�

20��4�7

6

5�25-7

26-6

20-4�



16��3�4�16-10�6��2�3�6-4�2��1�2�2-2�0���(3)  Calculation of Float



Activity�Total Float�Free Float��(1,2)�2-(0+2) = 0�2-(0+2) = 0��(2,3)�6-(2+4) = 0�6-(2+4) = 0��(3,4)�16-(6+10) = 0�16-(6+10) = 0��(4,5)�20-(16+4) = 0�20-(16+4) = 0��(4,6)�26-(16+6) = 4�22-(16+6) = 0��(4,7)�25-(16+7) = 2�25-(16+7) = 2��(5,7)�25-(20+5) = 0�25-(20+5) = 0��(6,8)�33-(22+7) = 4�29-(22+7) = 0��(7,9)�33-(25+8) = 0�33-(25+8) = 0��(8,10)�42-(29+9) = 4�38-(29+9) = 0��(9,11)�38-(33+4) = 1�37-(33+4) = 0��(9,12)�38-(33+5) = 0�38-(33+5) = 0��(10,13)�44-(38+2) = 4�44-(38+2) = 4��(12,13)�44-(38+6) = 0�44-(38+6) = 0��
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